v AF—mIL b

BEBHIRS 1 T

ITB
Mo OBIRILS  HRASE AR (S10CHES)
= M PEEEHIR (SPHC)
M RENIP: —w ) LAy

pTSB

7 E:ARILh AT LAHEE (SUS304)
- FZ M XFLXR (SUS304)
- FEUE : ) S R_—

NBR/Sw R [T 1] =z
‘ [an]
D
ITB fTsB
1= % AF> LR (SUS304) FE T filiarE
RE g | = B & g | e M L H D N B | (4EAKkQ)

TB0640 360 1.5t TSB0640 600 1.5t M6x1.0 40 63 40 6 17 100
TB0840 380 1.5t TSB0840 630 1.5t M8x1.25 40 63 40 6 17 200
TB0880 400 1.5t TSB0880 690 1.5t M8x1.25 80 |103 40 6 17 200
TB1060 450 2.0t TSB1060 780 2.0t M10x1.5 60 84.5 48 7 17.5 300
TB10100 500 2.0t TSB10100 870 2.0t M10x1.5 100 |[124.5 48 7 17.5 300
TB1250 580 2.0t TSB1250 1,300 2.0t M12x1.75 50 75.5 48 8 17.5 500
TB1275 600 2.0t TSB1275 1,350 2.0t M12x1.75 75 1100.5 48 8 17.5 500
TB12100 630 2.0t TSB12100 1,430 2.0t M12x1.75 100 |[125.5 48 8 17.5 500
TB12125 660 2.0t TSB12125 1,500 2.0t M12x1.75 125 |150.5 48 8 17.5 500
TB12150 700 2.0t TSB12150 1,580 2.0t M12x1.75 150 |[175.5 48 8 17.5 500
TB1650 660 2.0t TSB1650 1,650 2.0t M16x2.0 50 78.5 61 10 18.5 800
TB1675 720 2.0t TSB1675 1,870 2.0t M16x2.0 75 1103.5 61 10 18.5 800
TB16100 770 2.0t TSB16100 2,000 2.0t M16x2.0 100 |[128.5 61 10 18.5 800
TB16130 820 2.0t TSB16130 2,170 2.0t M16x2.0 130 |158.5 61 10 18.5 800
TB16150 870 2.0t TSB16150 2,300 2.0t M16x2.0 150 |178.5 61 10 18.5 800
TB16180 1,000 2.0t TSB16180 2,830 2.0t M16x2.0 180 |208.5 61 10 18.5 800
TB16200 1,060 2.0t TSB16200 3,000 2.0t M16x2.0 200 [228.5 61 10 18.5 800
TB2080 970 2.0t TSB2080 2,650 2.0t M20x2.5 80 |111.5 61 13 18.5 1,000
TB20100 980 2.0t TSB20100 2,740 2.0t M20x2.5 100 |131.5 61 13 18.5 1,000
TB20130 1,080 2.0t TSB20130 3,040 2.0t M20x2.5 130 |161.5 61 13 18.5 1,000
TB20150 1,110 2.0t TSB20150 3,220 2.0t M20x2.5 150 |181.5 61 13 18.5 1,000
TB20180 1,290 2.0t TSB20180 3,780 2.0t M20x2.5 180 |211.5 61 13 18.5 1,000
TB20200 1,310 2.0t TSB20200 4,200 2.0t M20x2.5 200 |231.5 61 13 18.5 1,000

731



